DEPARTMENT 46 AGRICULTURAL EXHIBITS

Superintendents: Debbie Stapish, Melissa Stapish (734)730-2141 mastabish@hotmail.com

RULES

- 1. Please read general rules and regulations page...
- 2. Exhibits are to be entered between 9:00 a.m. and 5:00 p.m. on Sunday prior to fair.
- 3. Judging will be done on Monday prior to fair.
- 4. No one will be allowed in the department during judging.
- 5. ALL EXHIBITS must remain on display until 9:00 a.m. on Sunday following fair.

 Please pick up exhibits between 9:00 a.m. and 11:00 a.m. on Sunday following fair.

<u>DEPARTMENT 46 – TRUCK FARMER, MARKET GARDENER OR ROADSIDE STAND</u>

This Division is open to amateurs and/or professionals. The purpose of this exhibit is to offer an opportunity to bring together in one group the important horticultural crops and agricultural products which are produced on farms in our area. The exhibit may include, but is not limited to, a collection of fruits, vegetables, flowers, honey, jams, jellies, canned fruit and/or fruit juices, and other agricultural products grown by the truck farmer, market gardener, or roadside stand exhibitor.

These exhibits will be put up at the discretion and taste of the exhibitor. All exhibit materials must be furnished by the exhibitor. Judging will be based on the variety of vegetables, fruits, etc., range of species and quality. Originality will be considered. The exhibit space will be limited to an area with a minimum of four (4) feet of frontage and four (4) feet of depth and not larger than six (6) feet of frontage and four (4) feet of depth. This may be adjusted depending upon availability at the time of registration.

These exhibitors must pre-register no later than the Thursday of Fair set up by phoning Melissa Stapish at

(734)730-2141. Entry time for these exhibits will be Sunday prior to Fair from 9 a.m. to 5 p.m. ENTRIES WILL ONLY BE REMOVED ON SUNDAY FOLLOWING FAIR FROM 9:00 A.M. TO 11:00 A.M.

Premiums

<u>Item No.</u> 1st 2nd 3rd

46001 Best Agricultural Display \$50.00 \$30.00 \$15.00

Rosette Rosette

AFTER THIS EXHIBIT HAS BEEN JUDGED, THE PARTICIPANTS ARE FREE TO DISPLAY THEIR SIGNS OF IDENTIFICATION.

FARM CROPS

Item No.	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
46002	Field Corn, growing, husked, 5 ears	\$4.0 0	\$3.0 0	\$2.0 0	\$1.0 0
46003	Corn Stalks, 3 stalk	\$4.00	\$3.00	\$2.00	\$1.00
46004	Indian Corn, dried, 5 ears	\$4.00	\$3.00	\$2.00	\$1.00
46005	Shelled Corn, 1 peck	\$4.00	\$3.00	\$2.00	\$1.00
46006	Oats, 1 peck	\$4.00	\$3.00	\$2.00	\$1.00
46007	Red Wheat, 1 peck	\$4.00	\$3.00	\$2.00	\$1.00
46008	White Wheat, 1 peck	\$4.00	\$3.00	\$2.00	\$1.00
46009	Clover Seed, 1 quart	\$4.00	\$3.00	\$2.00	\$1.00
46010	Alfalfa, growning, 1 bundle (3" across)	\$4.00	\$3.00	\$2.00	\$1.00
46011	Alfalfa, dried, 1 flake (3" thick)	\$4.00	\$3.00	\$2.00	\$1.00
46012	Buckwheat	\$4.00	\$3.00	\$2.00	\$1.00
46013	Clover, 1 bundle	\$4.00	\$3.00	\$2.00	\$1.00
46014	Oats, 1 bundle	\$4.00	\$3.00	\$2.00	\$1.00
46015	Wheat, 1 bundle	\$4.00	\$3.00	\$2.00	\$1.00
46016	Soybeans, any variety, 3 plants	\$4.00	\$3.00	\$2.00	\$1.00
46017	Barley, 1 peck	\$4.00	\$3.00	\$2.00	\$1.00
46018	Hayledge, 1 gal ziploc bag	\$4.00	\$3.00	\$2.00	\$1.00
46019	Corn Silage, 1 gal ziploc bag Hopps, 1 small bundle	\$4.00	\$3.00	\$2.00	\$1.00
46020	Any Other Form Cree	\$4.00	\$3.00	\$2.00	\$1.00
46021	Any Other Farm Crop	\$4.00	\$3.00	\$2.00	\$1.00

FRUITS

Item No.	Description:	1st	2nd	3rd	4th
46022	Apples, Macintosh, 4 per plate	\$4.0 0	\$3.00	\$2.00	\$1.00
46023	Apples, Jonathan, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46024	Apples, Delicious, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46025	Apples, any variety, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46026	Blackberries, 1 pint	\$4.00	\$3.00	\$2.00	\$1.00
46027	Raspberries, 1 pint	\$4.00	\$3.00	\$2.00	\$1.00
46028	Strawberries, 1 pint	\$4.00	\$3.00	\$2.00	\$1.00
46029	Cantaloupe, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46030	Honeydew Melon, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46031	Muskmelon, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46032	Watermelon, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46033	Midget Watermelon, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46034	Grapes, Concord, 3 bunches	\$4.00	\$3.00	\$2.00	\$1.00
46035	Grapes, any other variety, 3 bunches	\$4.00	\$3.00	\$2.00	\$1.00
46036	Nectarines, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46037	Peaches, any variety, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46038	Pears, any variety, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46039	Plums, any variety, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46040	Rhubarb, 3 stalks	\$4.00	\$3.00	\$2.00	\$1.00
46041	Most Artistic Fruit	\$4.00	\$3.00	\$2.00	\$1.00

VEGETABLES

Itom No	Description:	1ct	2nd	2rd	4th
<u>Item No.</u> 46042	Description:	<u>1st</u> \$4.00	2nd \$3.00	3rd \$2.00	4th \$1.00
46042 46043	Display of Vegetables Lima Beans, 6 per plate	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46044	Baby Lima Beans, 6 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46045	Green Beans, 6 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46046	Pole Beans, 6 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46047	Purple Beans, 6 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46048	Yellow Beans, 6 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46049	Beets, any variety, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46050	Broccoli, 1 head	\$4.00	\$3.00	\$2.00	\$1.00
46051	Brussel Sprouts, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46052	Cabbage, Flat Head, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46053	Cabbage, Round Head, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46054	Cabbage, Red or Purple, 1 per plate Carrots, 6"& under, 2" tops, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46055	Carrots, 6"& under, 2" tops, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46056	Carrots, over 6", 2" tops, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46057 46058	Calliflower, 1 per plate	\$4.00 \$4.00	\$3.00	\$2.00	\$1.00
46058 46059	Celery, 1 bunch Burpless Cucumbers, 4"& under, 3/plate		\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46060	Pickling Cucumbers, 4"& under, 3/plate	\$4.00	\$3.00 \$3.00	\$2.00	\$1.00
46061	Pickling Cucumbers, over 4", 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46062	Slicing Cucumbers, 7" & under, 3/plate	\$4.00	\$3.00	\$2.00	\$1.00
46063	Slicing Cucumbers, over 7", 3/plate	\$4.00	\$3.00	\$2.00	\$1.00
46064	Eggplant, Elongate, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46065	Eggplant, Oval, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46066	Garlic, 1 bulb	\$4.00	\$3.00	\$2.00	\$1.00
46067	Kohlrabi, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46068	Leeks, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46069	Head Lettuce, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46070	Leaf Lettuce, 1 root	\$4.00	\$3.00	\$2.00	\$1.00
46071 46072	Okra, 3 per plate	\$4.00 \$4.00	\$3.00	\$2.00 \$2.00	\$1.00 \$1.00
40072	White Onions, Globe, Unpeeled, Growing, 2" tops, 3 per plate	φ4.00	\$3.00	φ2.00	φ1.00
46073	White Onions, Globe, Unpeeled, Dried	\$4.00	\$3.00	\$2.00	\$1.00
10070	2" tops, 3 per plate	Ψ1.00	ψ0.00	Ψ2.00	Ψ1.00
46074	Yellow Onions, Globe, Unpeeled,	\$4.00	\$3.00	\$2.00	\$1.00
	Growing, 2" Tops, 3 per plate				
46075	Yellow Onions, Globe, Unpeeled, Dried	\$4.00	\$3.00	\$2.00	\$1.00
10070	2" tops, 3 per plate	* 4 * 0 *			0.1.00
46076	Yellow Unions, Flat, Unpeeled, Growing	\$4.00	\$3.00	\$2.00	\$1.00
46077	2" tops, 3 per plate	¢4.00	#2.00	ΦΩ ΩΩ	#4 00
46077	Yellow Onions, Flat, Unpeeled, Dried	\$4.00	\$3.00	\$2.00	\$1.00
46078	2" tops, 3 per plate Burgundy Onions, Unpeeled, 2" tops,	\$4.00	\$3.00	\$2.00	\$1.00
40070	3 per plate	Ψ00	ψ3.00	Ψ2.00	ψ1.00
46079	Green Table Onions, 5 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46080	Onions, 2" tops, any other variety,	\$4.00	\$3.00	\$2.00	\$1.00
	3 per plate	*	¥ 0 1 0 0	Y =100	* *****
46081	Peas, 6 pods per plate	\$4.00	\$3.00	\$2.00	\$1.00
46082	Snap Peas, 6 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46083	Shelled Peas, 6 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46084	Green Peppers, Sweet, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46085	Green Peppers, Sweet for stuffing,	\$4.00	\$3.00	\$2.00	\$1.00
46006	3 per plate	¢4.00	¢2.00	ድ ጋ በበ	¢ 4 00
46086 46087	Red Peppers, Sweet, 3 per plate Yellow Peppers, Sweet, 3 per plate	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46088	Green Peppers, Hot, 3 per plate	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46089	Red Peppers, Hot, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46090	Yellow Peppers, Hot, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46091	Peppers, any other variety, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
	3, 1				•

VEGETABLES

Item No.	Description:	1st	2nd	3rd	4th
46092	Potatoes, Red, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46093	Potatoes, White, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46094	Baking Potatoes, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46095	Potatoes, any other variety, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46096	Pie Pumpkin, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46097	Pumpkin, Miniature, Decorative, 3/plate	\$4.00	\$3.00	\$2.00	\$1.00
46098	Pumpkin, any other variety, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46099	Radishes, 5 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46100	Horseradish, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46101 46102	Salsify, 3 per plate	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46103	Sweet Corn, White, Unhusked, 3/plate Sweet Corn, Yellow, Unhusked, 3/plate	\$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46104	Sweet Corn, Yellow & White, Unhusked	\$4.00	\$3.00	\$2.00	\$1.00
40104	3 per plate	Ψ4.00	ψ3.00	Ψ2.00	ψ1.00
46105	Acorn Squash, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46106	Buttercup Squash, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46107	Butternut Squash, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46108	Crookneck Squash, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46109	Hubbard Squash, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46110	Baby Hubbard Squash, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46111	Golden Hubbard Squash, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46112	Scallop Squash, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46113 46114	Spagnetti Squash, 1 per plate	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46115	Yellow Summer Squash, 1 per plate Green Zucchini Squash, up to 12",	\$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
40113	1 per plate	Ψ+.00	ψ3.00	Ψ2.00	ψ1.00
46116	Green Zucchini Squash, 12" - 16",	\$4.00	\$3.00	\$2.00	\$1.00
40447	1 per plate	* 4 * 0 *	**	**	A 4 A A
46117	Yellow Zucchini Squash, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46118	Squash, any other variety, 1 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46119 46120	Beefsteak Tomatoes, 4 per plate	\$4.00	\$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46120 46121	Cherry Tomatoes, Red, 5 per plate Cherry Tomatoes, Miniature, 5 per plate	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46122	Grape Tomatoes, 5 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46123	Grape Tomatoes, Minis, 5 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46124	Pear Tomatoes, 5 per plate \$4.00	\$3.00	\$2.00		Ψ1.00
46125	Yellow Pear Tomatoes, Mini, 5 per plate		\$3.00	\$2.00	\$1.00
46126	Plum Tomatoes, Yellow, 5 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46127	Heirloom Tomatoes, Any, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46128	Red Tomatoes, 4" and under, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46129	Red Tomatoes, over 4", 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46130	Roma Tomatoes, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46131	Yellow Tomatoes, 4 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46132	Tomatoes, another other variety, 4/plate	\$4.00	\$3.00	\$2.00	\$1.00
46133 46134	Turnips, 3 per plate	\$4.00 \$4.00	\$3.00	\$2.00	\$1.00 \$1.00
46135	Delicata Squash Habanero Pepper	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46136	Tomatillo	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46137	Banana Pepper	\$4.00	\$3.00	\$2.00	\$1.00
46138	Jalapeno Pepper	\$4.00	\$3.00	\$2.00	\$1.00
46139	Swiss Chard	\$4.00	\$3.00	\$2.00	\$1.00
46140	Most Artistic Vegetable	\$4.00	\$3.00	\$2.00	\$1.00
	=				

MISCELLANEOUS

Item No.	Description:	<u>1st</u>	<u>2nd</u>	3rd	4th
46141	White Eggs, 1 doz	\$4.00	\$3.00	\$2.00	\$1.00
46142	Brown Eggs, 1 doz	\$4.00	\$3.00	\$2.00	\$1.00
46143	Eggs, any other variety, 1 doz	\$4.00	\$3.00	\$2.00	\$1.00
46144	Butternut Nuts, 1 qt	\$4.00	\$3.00	\$2.00	\$1.00
46145 46146	Hickory Nuts, Hulls Removed, 1 qt	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46147	Black Walnuts, Hulls Removed, 1 qt English Walnuts, Hulls Removed, 1 qt	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46148	Popcorn, White, Dried, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46149	Popcorn, Yellow, Dried, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46150	Popcorn, White, Growing, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46151	Popcorn, Dried, any other variety, 3/plat	e\$4.00	\$3.00	\$2.00	\$1.00
46152	Popcorn, Growing, any other variety, 3 per plate	\$4.00	\$3.00	\$2.00	\$1.00
46153	Freakish Carrot	\$4.00	\$3.00	\$2.00	\$1.00
46154	Freakish Pepper	\$4.00	\$3.00	\$2.00	\$1.00
46155	Freakish Potato	\$4.00	\$3.00	\$2.00	\$1.00
46156	Freakish Squash	\$4.00	\$3.00	\$2.00	\$1.00
46157 46158	Freakish Crop, any other	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46159	Freakish Crop, any other Most Uncommon Crop	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46160	Largest Beet	\$4.00	\$3.00	\$2.00	\$1.00
46161	Largest Cabbage	\$4.00	\$3.00	\$2.00	\$1.00
46162	Largest Carrot	\$4.00	\$3.00	\$2.00	\$1.00
46163	Largest Cucumber	\$4.00	\$3.00	\$2.00	\$1.00
46164 46165	Largest Green Pepper - Sweet Largest Kohlrabi	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46166	Largest Potato	\$4.00	\$3.00	\$2.00	\$1.00
46167	Largest Pumpkin	\$4.00	\$3.00	\$2.00	\$1.00
46168	Largest Squash -any other variety	\$4.00	\$3.00	\$2.00	\$1.00
46169	Largest Tomato	\$4.00	\$3.00	\$2.00	\$1.00
46170 46171	Largest Zucchini	\$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46171 46172	Longest Burpless Cucumber Herbs - Dill (in suitable container)	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46173	Herbs - Parsley (in suitable container)	\$4.00	\$3.00	\$2.00	\$1.00
46174	Herbs - Basil, sweet, green (in suitable		•	•	·
40475	container)	\$4.00	\$3.00	\$2.00	\$1.00
46175	Herbs - Basil, sweet, red (in suitable	¢4.00	¢2.00	ድጋ በበ	¢ 4 00
46176	container) Herbs - Chives (in suitable container)	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46177	Herbs - Garlic Chives (in suitable	Ψ4.00	ψ5.00	Ψ2.00	ψ1.00
	container)	\$4.00	\$3.00	\$2.00	\$1.00
46178	Herbs - Onion Chives (in suitable	4.00	*	00.00	0.1.00
40470	container)	\$4.00	\$3.00	\$2.00	\$1.00
46179 46180	Herbs - Oregano (in suitable container) Herbs - Lavender (in suitable container)	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46181	Herbs - Mint (in suitable container)	\$4.00	\$3.00	\$2.00	\$1.00
46182	Herbs - Rosemary (in suitable container		\$3.00	\$2.00	\$1.00
46183	Herbs - Sage (in suitable container)	\$4.00	\$3.00	\$2.00	\$1.00
46184	Herbs - Thyme (in suitable container)	\$4.00	\$3.00	\$2.00	\$1.00
46185	Herbs - any other variety (in suitable	¢4 00	¢3 00	¢2 00	\$1.00
46186	container) Honey - 1 jar	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46187	Comb Honey	\$4.00	\$3.00	\$2.00	\$1.00
46188	Horseradish	\$4.00	\$3.00	\$2.00	\$1.00
46189	Maple Syrup - 1 pint	\$4.00	\$3.00	\$2.00	\$1.00
46190	Fruit Syrup - 1 pint	\$4.00	\$3.00	\$2.00	\$1.00
46191 46192	Snake Gourds - 2 per plate Swan Gourds - 2 per plate	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00 \$1.00
46193	Gourds, any other same variety 2/plate	\$4.00 \$4.00	\$3.00 \$3.00	\$2.00 \$2.00	\$1.00
46194	Gourds, most artistic display	\$4.00	\$3.00	\$2.00	\$1.00

46195 46196 46197 46198	Sunflower, largest head w/o stalk Sunflower, tallest stalk Cornstalk, tallest stalk	\$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00
46199 46200	Scarecrow, most traditional, fence posts provided Scarecrow, most unusual Scarecrow, most artistic	\$4.00 \$4.00 \$4.00	\$3.00 \$3.00 \$3.00	\$2.00 \$2.00 \$2.00	\$1.00 \$1.00 \$1.00

WOOL

Item No.	Description:	<u>1st</u>	<u>2nd</u>	<u>3rd</u>	<u>4th</u>
46201	Ewe Fleece, colored	\$4. 00	\$3.00	\$2.00	\$1.0 0
46202	Ewe Fleece, medium	\$4.00	\$3.00	\$2.00	\$1.00
46203	Ewe Fleece, fine	\$4.00	\$3.00	\$2.00	\$1.00
46204	Ewe Fleece, long	\$4.00	\$3.00	\$2.00	\$1.00
46205	Ram Fleece, medium	\$4.00	\$3.00	\$2.00	\$1.00
46206	Ram Fleece, fine	\$4.00	\$3.00	\$2.00	\$1.00
46207	Ram Fleece, long	\$4.00	\$3.00	\$2.00	\$1.00
46208	Llama Fleece	\$4.00	\$3.00	\$2.00	\$1.00

CARDBOARD BOXES WILL BE FURNISHED FOR DISPLAYING FLEECE